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® 100cm? @1a ® 1ha
@ 10m? ® 1km?
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la = 10m X 10m = 100m?
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HE T 290000
HE T 29000000
HED 340000
HE D 3400
HED 34

1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?
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> ®eh: 0.00002
20g = 0.02kg

0.02kg = 0.00002 t
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® 300a = 3m?
@2030 m? =20.3a

® 770a="T7ha
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@ 9km?2 = 90000 ha

@ 43ha = 4300 m?

B

@ 300a = 0.03km?
@ 9km? = 900 ha

@ 43 ha = 430000 m?
® 770a = 7.7ha




@ 80km? © 90000 m?

@ 7000000 m? @ 0.6km?

© 7000ha

® 9000a

[
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SE ha 992 DN Hag
@ 80 km? = 8000 ha

© 90000 m? = 900a = 9 ha

©® 7000 ha

® 7000000 m? = 700002 = 700 ha
@ 0.6km? = 60 ha

® 9000a = 90 ha
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> E: m

> ®g: 135m

la = 100m?, 162a = 16200 m?
16200m? + 120m = 135m
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10. ol&eoly] Heli= A Ego] sk 47k 9nte] Qlgvich 4 o
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> = 225 ¢

4 9uka] o] BA| 1 250 x 9 = 2250( kg)
1t =1000kg ©|2&, 2250kg = 2.25t YUY},




11. 185ha 9] =3} 21.1ha o] WS §olo] ofFof 2.4ha W LT &<t
Ztth 9 ha £ ¢ Zotof Y77
=1 ha

>
> HEH: 22.8ha

(18.5+21.1) — 2.4 x 7 = 39.6 — 16.8 = 22.8( ha)
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5000 — 1800 = 3200( kg)
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200m? =2a °| B2

la g 28 kg o] o] Y4ttt
b, A ABATE] = Aol 2
28 X 150 = 4200(kg) = 4.2(t)




14. S =32 Ho|7} 8.86ha & W, AR c=2] Zo
oA L.

v
it
=

(A cend gol)

= 88600 — (250 + 390) x 230 + 2

= 15000( m?)

(AR c=229] Zo])= 15000 x 2 + 150 = 200(m)
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ABAFF)X0.7 = 9 x 0.7 = 6.3(t)

)=(FA AAF)x1.8 = 5x 1.8 = 9(t)
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